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[image: image2.png]a. For the most distant of these quasars, find its approximate red shift, z = (A — Ag)/Ao-
b. What is the approximate recession velocity of this quasar?
¢. Estimate the distance to the quasar.




[image: image3.png]Problem 7 (12 points)

The plots below show three quasar spectra. The most prominent line in each spectrum is
due to Har with a rest wavelength of 6562 A. For the purpose of this problem, assume a value
for the Hubble constant, Ho, of 70 km s ! Mpe~.




Quasars, Redshift and Hubble’s Law








